entity NAND2 is
  port ( A,B : in BIT;
      Y : out BIT );
end NAND2;
architecture ARCHI of NAND2 is
begin
  Y 
entity HALFADDER is
  port ( X,Y : in BIT;
      C,S : out BIT );
end HALFADDER;
architecture ARCHI of HALFADDER is
  component NAND2 
    port ( A,B : in BIT;
        Y : out BIT );
  end component;
  for all : NAND2 use entity work.NAND2(ARCHI); 
  signal S1, S2, S3 : BIT; 
begin 
  NANDA : NAND2 port map (X,Y,S3);
  NANDB : NAND2 port map (X,S3,S1);
  NANDC : NAND2 port map (S3,Y,S2);
  NANDD : NAND2 port map (S1,S2,S); 
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= S3;
 end ARCHI;
